
1

1

2

2

3

3

4

4

5

5

6

6

D D

C C

B B

A A

IST
Patch Panel Board
IST-0005 1

Proj:
Doc:
Num:

B. Buck
B. Buck

8:52:13 AM6/7/2013

Proj. Eng:
Sch. Eng:
Date:

MIT Bates Laboratory
21 Manning Ave
Middleton, MA 01949

K:\bbuck\STAR\IST\pcb\patch panel rev 2\IST_PPrev4.SchDoc Sheet Of1 1

OUT11_P

OUT10_P

OUT9_POUT8_P
OUT7_P
OUT6_P
OUT5_P
OUT4_P
OUT3_P
OUT2_P
OUT1_P
OUT0_P

CLK_N
TRG_N

Bias Bias_Ret

TRG_P
CLK_P

VDD GND

VSS

SDA_VSS

SCLK_VSS

SDA

SCLK

VSS_SENSE GND_SENSE_VSS
VDD_SENSE

VM_SENSE

VC_SENSE
VP_SENSE

SDA_VSS
SDA_IN

SCLK_VSS

VM_FORCE

63.4
R27

63.4
R26

63.4
R30

66.5
R28

1.62K
R29

1uF
C10

1uFC11
VSS VDD

VSS VDD

2
5

4

13

6

U8
ADCMP604BKSZ

2
5

4

13

6

U7
ADCMP604BKSZ

TRG_P_IN

TRG_N_IN

CLK_P_IN

CLK_N_IN

TRG_P

TRG_N

CLK_P

CLK_N

VDD

2

R5

2

R4

VSS

VSS

VDD

100
R14

100

R11
100

R13

SCL1
GND2

ALERT3 ADD0 4V+ 5SDA 6

TMP102

U4
SD

A

SCLK
10nF

C3

SCLK_VSS
SCLK_VSS

SCLK_IN

100

R10

100
R12

SDA_IN

SCLK_IN

OUT11_N

OUT10_N

OUT9_N
OUT8_N
OUT7_N
OUT6_N
OUT5_N
OUT4_N
OUT3_N
OUT2_N
OUT1_N
OUT0_N

3

1

2

U2
BC847CWT1G

100
R6

VM_FORCE

330uF
C1

330uF
C2

VP_FORCE

VM_FORCE

F1

PolyFuse 0603L025

F2

PolyFuse 0603L025

F3

PolyFuse 0603L025

VM_FORCEGND

243

R9

2
1

U3

VP_FORCE

VP_FORCE

VM_FORCE

243

R2

2
1 U1

VM_FORCE

2

1

3

U9

2

1

3

U5GND_SENSE_VSS

VDD_SENSE

GND_SENSE_VDD

VSS_SENSE

100

R31

VM_FORCE

VSS

VDD

VP_FORCE

750pf

C14

OUT0_P
OUT0_N
OUT1_N

OUT1_P
OUT2_P

OUT2_N OUT3_P
OUT3_N
OUT4_N

OUT4_P
OUT5_P

OUT5_N OUT6_P
OUT6_N OUT7_P
OUT7_N OUT8_P
OUT8_N OUT9_P
OUT9_N

OUT10_N
OUT10_P

OUT11_P
OUT11_N

TRG_N_IN
TRG_P_INCLK_N_IN
CLK_P_IN

10KR25

10KR22

10KR20

10K
R21

59K

R32

63.4K

R18

100

R16

1uF

C7

1uF

C8

10nf

C13

10nf

C5

GND_SENSE_VDD

100

R17

100

R15 CLK_NCLK_P

TRG_P TRG_N

1K
R24

1K
R23

1K
R40

1K
R43

VDD

VSS

2 1

D2

VP_FORCE

Bias
Bias_Ret
GND

VC_SENSE

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15

J2A
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30

J2B
31
32
33
34
35
36
37
38
39
40
41
42
43
44

bdy 45

bdy 46

J2C

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17

J1A

18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33

J1B

34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50

bdy 51
bdy 52

J1C

VSS

VM_FORCE

GND

VP_FORCE

VM_SENSE

VC_SENSE

VP_SENSE

GND

1.1nf

C6

2 2
33 4 4

55 6 6

77 8 8

99 10 10

1111 12 12
1313 14 14
1515 16 16

1717 18 18

1919 20 20

2121 22 22
2323 24 24
2525 26 26

2727 28 28

2929 30 30

3131

11

32 32

3333 34 34
3535 36 36

3737 38 38

3939 40 40

P4

40 pin header (mill max 450-10)

OUT11_N
OUT10_N

OUT9_N

OUT8_N
OUT7_N
OUT6_N
OUT5_N
OUT4_N
OUT3_N
OUT2_N
OUT1_N
OUT0_N

OUT11_P
OUT10_P

OUT9_P

OUT8_P
OUT7_P
OUT6_P
OUT5_P
OUT4_P
OUT3_P
OUT2_P
OUT1_P
OUT0_P

CLK_N_IN
TRG_N_INTRG_P_IN

CLK_P_IN
SDA_INSCLK_IN

VSS_SENSE GND_SENSE_VSS
VDD_SENSE

BiasBias_Ret
VDD
VSS

GND

GND_SENSE_VDD

10pF

C9

41.2K

R33

215K

R19

5

6
7

U10B

3

2
1

4
8

U6A 5

6
7

U6B

VP_FORCE

VM_FORCE

10KR41

10KR37

10KR38

10K
R36

1uF

C15

1uF

C16

10pF

C17

3

2
1

4
8

U10A

C12

C4

10

R34

10

R42

330 R39

330
R35

D1
LED2

VP_FORCE

2 211
P3

2 pin header

2 211
P1

2 pin header

100
R1

100
R3

2 211
P2

2 pin header
100
R7

100
R8

GNDGND

M2.5 PEM NutM2.5 PEM Nut

GND

GND
GND

GND
GND

Standoff Landing Site

Standoff Landing Site

mounting screw 4-40 x 5/16

mounting screw 4-40 x 5/16

mounting screw 4-40 x 5/16

mounting screw 4-40 x 5/16

mounting washer #4

mounting washer #4

mounting washer #4

mounting washer #4

mounting nut 4-40

mounting nut 4-40

mounting nut 4-40

mounting nut 4-40

PIC101

PIC102
COC1

PIC201

PIC202
COC2

PIC301PIC302

COC3

PIC401

PIC402
COC4

PIC501 PIC502

COC5

PIC601 PIC602

COC6
PIC701 PIC702

COC7

PIC801 PIC802

COC8

PIC901PIC902

COC9

PIC1001 PIC1002

COC10

PIC1101 PIC1102

COC11

PIC1201

PIC1202
COC12PIC1301 PIC1302

COC13

PIC1401 PIC1402

COC14
PIC1501 PIC1502

COC15

PIC1601 PIC1602

COC16

PIC1701PIC1702

COC17

PID101
PID102

COD1

PID201PID202

COD2

PIF101 PIF102
COF1

PIF201 PIF202
COF2

PIF301 PIF302
COF3

PIJ101

PIJ102

PIJ103

PIJ104

PIJ105

PIJ106

PIJ107

PIJ108

PIJ109

PIJ1010

PIJ1011

PIJ1012

PIJ1013

PIJ1014

PIJ1015

PIJ1016

PIJ1017

COJ1A

PIJ1018

PIJ1019

PIJ1020

PIJ1021

PIJ1022

PIJ1023

PIJ1024

PIJ1025

PIJ1026

PIJ1027

PIJ1028

PIJ1029

PIJ1030

PIJ1031

PIJ1032

PIJ1033

COJ1B

PIJ1034

PIJ1035

PIJ1036

PIJ1037

PIJ1038

PIJ1039

PIJ1040

PIJ1041

PIJ1042

PIJ1043

PIJ1044

PIJ1045

PIJ1046

PIJ1047

PIJ1048

PIJ1049

PIJ1050

PIJ1051

PIJ1052

COJ1C

PIJ201

PIJ202

PIJ203

PIJ204

PIJ205

PIJ206

PIJ207

PIJ208

PIJ209

PIJ2010

PIJ2011

PIJ2012

PIJ2013

PIJ2014

PIJ2015

COJ2A

PIJ2016

PIJ2017

PIJ2018

PIJ2019

PIJ2020

PIJ2021

PIJ2022

PIJ2023

PIJ2024

PIJ2025

PIJ2026

PIJ2027

PIJ2028

PIJ2029

PIJ2030

COJ2B

PIJ2031

PIJ2032

PIJ2033

PIJ2034

PIJ2035

PIJ2036

PIJ2037

PIJ2038

PIJ2039

PIJ2040

PIJ2041

PIJ2042

PIJ2043

PIJ2044

PIJ2045

PIJ2046

COJ2C
COmech1

COmech2COmech3
COmech4

COmech5COmech6

COmech7

COmech8COmech9
COmech10

COmech11COmech12

PIP101 PIP102

COP1

PIP201 PIP202

COP2

PIP301 PIP302

COP3

PIP401 PIP402

PIP403 PIP404

PIP405 PIP406

PIP407 PIP408

PIP409 PIP4010

PIP4011 PIP4012

PIP4013 PIP4014

PIP4015 PIP4016

PIP4017 PIP4018

PIP4019 PIP4020

PIP4021 PIP4022

PIP4023 PIP4024

PIP4025 PIP4026

PIP4027 PIP4028

PIP4029 PIP4030

PIP4031 PIP4032

PIP4033 PIP4034

PIP4035 PIP4036

PIP4037 PIP4038

PIP4039 PIP4040

COP4

PIP500

COP5

PIP600

COP6

PIR101

PIR102
COR1

PIR201PIR202
COR2

PIR301

PIR302
COR3

PIR401 PIR402
COR4

PIR501PIR502
COR5

PIR601

PIR602
COR6

PIR701

PIR702
COR7

PIR801

PIR802
COR8

PIR901PIR902
COR9

PIR1001PIR1002
COR10

PIR1101 PIR1102
COR11

PIR1201

PIR1202
COR12

PIR1301 PIR1302
COR13

PIR1401

PIR1402

COR14

PIR1501PIR1502
COR15

PIR1601 PIR1602
COR16

PIR1701PIR1702
COR17

PIR1801 PIR1802
COR18

PIR1901 PIR1902
COR19

PIR2001 PIR2002
COR20

PIR2101

PIR2102
COR21

PIR2201 PIR2202
COR22

PIR2301

PIR2302

COR23

PIR2401

PIR2402
COR24

PIR2501 PIR2502
COR25

PIR2601

PIR2602
COR26

PIR2701

PIR2702
COR27

PIR2801

PIR2802
COR28

PIR2901

PIR2902
COR29

PIR3001

PIR3002
COR30

PIR3101 PIR3102
COR31

PIR3201 PIR3202
COR32

PIR3301 PIR3302
COR33

PIR3401 PIR3402
COR34

PIR3501

PIR3502
COR35

PIR3601

PIR3602
COR36

PIR3701 PIR3702
COR37

PIR3801 PIR3802
COR38

PIR3901

PIR3902
COR39

PIR4001

PIR4002

COR40

PIR4101 PIR4102
COR41

PIR4201 PIR4202
COR42

PIR4301

PIR4302
COR43

PIstandoff101

COstandoff1

PIstandoff201

COstandoff2

PIU101
PIU102

COU1

PIU201

PIU202

PIU203
COU2

PIU301
PIU302

COU3

PIU401

PIU402

PIU403 PIU404

PIU405

PIU406

COU4

PIU501

PIU502

PIU503
COU5PIU601

PIU602

PIU603

PIU604

PIU608

COU6A
PIU605

PIU606

PIU607

COU6B

PIU701

PIU702

PIU703

PIU704

PIU705
PIU706

COU7

PIU801

PIU802

PIU803

PIU804

PIU805
PIU806

COU8

PIU901

PIU902

PIU903
COU9

PIU1001

PIU1002

PIU1003

PIU1004

PIU1008

COU10A
PIU1005

PIU1006

PIU1007

COU10B

PIJ1038

PIJ2012

PIP402

NLBias
PIJ1039

PIJ2027

PIP401

NLBias0Ret

PIJ2026

PIR1501

PIU706

NLCLK0N

PIJ106

PIP4014

PIR2602

PIU704
NLCLK0N0IN

PIJ2011

PIR1502

PIU701

NLCLK0P

PIJ1022

PIP4013

PIR2702

PIU703
NLCLK0P0IN

PIC102

PIC201

PIC401

PIC701

PIC801

PIC1202
PIC1501

PIC1601

PIF202

PIJ103

PIJ1040

PIJ1051

PIJ1052

PIJ2030

PIJ2041

PIJ2045

PIJ2046

PIP101 PIP102

PIP404

PIP406

PIP500 PIP600

PIR2101PIR2302

PIR2601 PIR2701

PIR2801 PIR3001

PIR3601PIR4002

PIstandoff101

PIstandoff201

PIU101

PIU201

PIU302

NLGND

PIJ2029

PIP408

PIR3701
PIR4001

NLGND0SENSE0VDD

PIJ2028

PIP4010

PIR2201PIR2301
NLGND0SENSE0VSS

PIC302

PID201

PIR1402

PIU405

PIC501PIR1802 PIC502

PIC602

PIR801

PIR1601PIU607

PIC601

PIR1801

PIR1902 PIU606

PIC901

PIR1901

PIR2002

PIU601

PIC902

PIR2001

PIR2502 PIU602

PIC1002 PIR502

PIU805

PIC1102 PIR401

PIU705

PIC1301PIR3202 PIC1302

PIC1402

PIR301

PIR3101PIU1007

PIC1401

PIR3201

PIR3302 PIU1006

PIC1701

PIR3301

PIR3802

PIU1001

PIC1702

PIR3801

PIR4102 PIU1002

PID102
PIU203

PIF101PIR3402

PIF301PIR4202

PIJ102

PIJ104

PIJ105

PIJ1035

PIJ1037

PIJ1045

PIJ1046

PIJ2042

PIP201
PIR802

PIP202
PIR702

PIP301PIR302 PIP302PIR102

PIR201

PIU102
PIU1005

PIR602

PIU202

PIR901

PIU301

PIU605

PIR1102 PIU401

PIR1302

PIU404

PIU406

PIR1602 PIU501PIR2102PIR2202 PIU603

PIR3102 PIU901
PIR3602

PIR3702 PIU1003

PIU403

PIJ108

PIJ2024

PIP4017

NLOUT00N

PIJ1024

PIJ209

PIP4018

NLOUT00P

PIJ109

PIJ2023

PIP4019

NLOUT10N

PIJ1025

PIJ208

PIP4020

NLOUT10P

PIJ1010

PIJ2022

PIP4021

NLOUT20N

PIJ1026

PIJ207

PIP4022

NLOUT20P

PIJ1011

PIJ2021

PIP4023

NLOUT30N

PIJ1027

PIJ206

PIP4024

NLOUT30P

PIJ1012

PIJ2020

PIP4025

NLOUT40N

PIJ1028

PIJ205

PIP4026

NLOUT40P

PIJ1013

PIJ2019

PIP4027

NLOUT50N

PIJ1029

PIJ204

PIP4028

NLOUT50P

PIJ1014

PIJ2018

PIP4029

NLOUT60N

PIJ1030

PIJ203

PIP4030

NLOUT60P

PIJ1015

PIJ2017

PIP4031

NLOUT70N

PIJ1031

PIJ202

PIP4032

NLOUT70P

PIJ1016

PIJ2016

PIP4033

NLOUT80N

PIJ1032

PIJ201

PIP4034

NLOUT80P

PIJ1017

PIJ2032

PIP4039

NLOUT90N

PIJ1033

PIJ2031

PIP4040

NLOUT90P

PIJ1049

PIJ2034

PIP4035

NLOUT100N

PIJ1050

PIJ2033

PIP4036

NLOUT100P

PIJ1047

PIJ2036

PIP4037

NLOUT110N

PIJ1048

PIJ2035

PIP4038

NLOUT110P

PIJ2038

PIR1002
NLSCLK

PIJ1043

PIP4011

PIR1001

PIR1101
NLSCLK0IN

PIC301

PID202

PIJ1044

PIJ2037

PIU402

NLSCLK0VSS

PIJ2040

PIR1202
NLSDA

PIJ1041

PIP4012

PIR1201

PIR1301
NLSDA0IN

PIJ1042

PIJ2039

NLSDA0VSS

PIJ2025

PIR1701

PIU806

NLTRG0N

PIJ107

PIP4016

PIR2802

PIR2901

PIU804
NLTRG0N0IN

PIJ2010

PIR1702

PIU801

NLTRG0P

PIJ1023

PIP4015

PIR3002

PIU803
NLTRG0P0IN PIF201

PIJ1019

PIJ1020

PIR3501

PIR3902
NLVC0SENSE

PIJ2015

PIP403

PIR402

PIR501

PIR1401

PIR2902

PIR4302

PIU902
NLVDD

PIJ2014

PIP407

PIR4101PIR4301NLVDD0SENSE

PIC202

PIC402
PIC802

PIC1602

PIF102

PIJ1034

PIJ1036

PIR202

PIR601

PIR701

PIU503PIU604

PIU1004

NLVM0FORCE

PIJ1021

PIR3401
PIR3502

NLVM0SENSE

PIC101

PIC702

PIC1201
PIC1502

PID101

PIF302

PIJ101

PIR101

PIR902

PIU608

PIU903
PIU1008

NLVP0FORCE

PIJ1018

PIR3901 PIR4201
NLVP0SENSE

PIC1001

PIC1101

PIJ2043

PIJ2044

PIP405

PIR2402

PIU103

PIU303

PIU502

PIU702

PIU802

NLVSS

PIJ2013

PIP409

PIR2401
PIR2501

NLVSS0SENSE


	Schematic Prints of IST_PPrev4.SchDoc("Selected Document")
	IST_PPrev4.SchDoc
	Components
	C1
	C1-1
	C1-2

	C2
	C2-1
	C2-2

	C3
	C3-1
	C3-2

	C4
	C4-1
	C4-2

	C5
	C5-1
	C5-2

	C6
	C6-1
	C6-2

	C7
	C7-1
	C7-2

	C8
	C8-1
	C8-2

	C9
	C9-1
	C9-2

	C10
	C10-1
	C10-2

	C11
	C11-1
	C11-2

	C12
	C12-1
	C12-2

	C13
	C13-1
	C13-2

	C14
	C14-1
	C14-2

	C15
	C15-1
	C15-2

	C16
	C16-1
	C16-2

	C17
	C17-1
	C17-2

	D1
	D1-1
	D1-2

	D2
	D2-1
	D2-2

	F1
	F1-1
	F1-2

	F2
	F2-1
	F2-2

	F3
	F3-1
	F3-2

	J1A
	J1-1
	J1-2
	J1-3
	J1-4
	J1-5
	J1-6
	J1-7
	J1-8
	J1-9
	J1-10
	J1-11
	J1-12
	J1-13
	J1-14
	J1-15
	J1-16
	J1-17

	J1B
	J1-18
	J1-19
	J1-20
	J1-21
	J1-22
	J1-23
	J1-24
	J1-25
	J1-26
	J1-27
	J1-28
	J1-29
	J1-30
	J1-31
	J1-32
	J1-33

	J1C
	J1-34
	J1-35
	J1-36
	J1-37
	J1-38
	J1-39
	J1-40
	J1-41
	J1-42
	J1-43
	J1-44
	J1-45
	J1-46
	J1-47
	J1-48
	J1-49
	J1-50
	J1-51
	J1-52

	J2A
	J2-1
	J2-2
	J2-3
	J2-4
	J2-5
	J2-6
	J2-7
	J2-8
	J2-9
	J2-10
	J2-11
	J2-12
	J2-13
	J2-14
	J2-15

	J2B
	J2-16
	J2-17
	J2-18
	J2-19
	J2-20
	J2-21
	J2-22
	J2-23
	J2-24
	J2-25
	J2-26
	J2-27
	J2-28
	J2-29
	J2-30

	J2C
	J2-31
	J2-32
	J2-33
	J2-34
	J2-35
	J2-36
	J2-37
	J2-38
	J2-39
	J2-40
	J2-41
	J2-42
	J2-43
	J2-44
	J2-45
	J2-46

	mech1
	mech2
	mech3
	mech4
	mech5
	mech6
	mech7
	mech8
	mech9
	mech10
	mech11
	mech12
	P1
	P1-1
	P1-2

	P2
	P2-1
	P2-2

	P3
	P3-1
	P3-2

	P4
	P4-1
	P4-2
	P4-3
	P4-4
	P4-5
	P4-6
	P4-7
	P4-8
	P4-9
	P4-10
	P4-11
	P4-12
	P4-13
	P4-14
	P4-15
	P4-16
	P4-17
	P4-18
	P4-19
	P4-20
	P4-21
	P4-22
	P4-23
	P4-24
	P4-25
	P4-26
	P4-27
	P4-28
	P4-29
	P4-30
	P4-31
	P4-32
	P4-33
	P4-34
	P4-35
	P4-36
	P4-37
	P4-38
	P4-39
	P4-40

	P5
	P5-0

	P6
	P6-0

	R1
	R1-1
	R1-2

	R2
	R2-1
	R2-2

	R3
	R3-1
	R3-2

	R4
	R4-1
	R4-2

	R5
	R5-1
	R5-2

	R6
	R6-1
	R6-2

	R7
	R7-1
	R7-2

	R8
	R8-1
	R8-2

	R9
	R9-1
	R9-2

	R10
	R10-1
	R10-2

	R11
	R11-1
	R11-2

	R12
	R12-1
	R12-2

	R13
	R13-1
	R13-2

	R14
	R14-1
	R14-2

	R15
	R15-1
	R15-2

	R16
	R16-1
	R16-2

	R17
	R17-1
	R17-2

	R18
	R18-1
	R18-2

	R19
	R19-1
	R19-2

	R20
	R20-1
	R20-2

	R21
	R21-1
	R21-2

	R22
	R22-1
	R22-2

	R23
	R23-1
	R23-2

	R24
	R24-1
	R24-2

	R25
	R25-1
	R25-2

	R26
	R26-1
	R26-2

	R27
	R27-1
	R27-2

	R28
	R28-1
	R28-2

	R29
	R29-1
	R29-2

	R30
	R30-1
	R30-2

	R31
	R31-1
	R31-2

	R32
	R32-1
	R32-2

	R33
	R33-1
	R33-2

	R34
	R34-1
	R34-2

	R35
	R35-1
	R35-2

	R36
	R36-1
	R36-2

	R37
	R37-1
	R37-2

	R38
	R38-1
	R38-2

	R39
	R39-1
	R39-2

	R40
	R40-1
	R40-2

	R41
	R41-1
	R41-2

	R42
	R42-1
	R42-2

	R43
	R43-1
	R43-2

	standoff1
	standoff1-1

	standoff2
	standoff2-1

	U1
	U1-1
	U1-2

	U2
	U2-1
	U2-2
	U2-3

	U3
	U3-1
	U3-2

	U4
	U4-1
	U4-2
	U4-3
	U4-4
	U4-5
	U4-6

	U5
	U5-1
	U5-2
	U5-3

	U6A
	U6-1
	U6-2
	U6-3
	U6-4
	U6-8

	U6B
	U6-5
	U6-6
	U6-7

	U7
	U7-1
	U7-2
	U7-3
	U7-4
	U7-5
	U7-6

	U8
	U8-1
	U8-2
	U8-3
	U8-4
	U8-5
	U8-6

	U9
	U9-1
	U9-2
	U9-3

	U10A
	U10-1
	U10-2
	U10-3
	U10-4
	U10-8

	U10B
	U10-5
	U10-6
	U10-7


	Nets
	BIAS
	Pins
	J1-38
	J2-12
	P4-2

	NetLabels
	BIAS
	BIAS
	BIAS


	BIAS_RET
	Pins
	J1-39
	J2-27
	P4-1

	NetLabels
	BIAS_RET
	BIAS_RET
	BIAS_RET


	CLK_N
	Pins
	J2-26
	R15-1
	U7-6

	NetLabels
	CLK_N
	CLK_N
	CLK_N


	CLK_N_IN
	Pins
	J1-6
	P4-14
	R26-2
	U7-4

	NetLabels
	CLK_N_IN
	CLK_N_IN
	CLK_N_IN


	CLK_P
	Pins
	J2-11
	R15-2
	U7-1

	NetLabels
	CLK_P
	CLK_P
	CLK_P


	CLK_P_IN
	Pins
	J1-22
	P4-13
	R27-2
	U7-3

	NetLabels
	CLK_P_IN
	CLK_P_IN
	CLK_P_IN


	GND
	Pins
	C1-2
	C2-1
	C4-1
	C7-1
	C8-1
	C12-2
	C15-1
	C16-1
	F2-2
	J1-3
	J1-40
	J1-51
	J1-52
	J2-30
	J2-41
	J2-45
	J2-46
	P1-1
	P1-2
	P4-4
	P4-6
	P5-0
	P6-0
	R21-1
	R23-2
	R26-1
	R27-1
	R28-1
	R30-1
	R36-1
	R40-2
	standoff1-1
	standoff2-1
	U1-1
	U2-1
	U3-2

	NetLabels
	GND
	GND
	GND
	GND
	GND
	GND
	GND
	GND
	GND
	GND
	GND
	GND
	GND


	GND_SENSE_VDD
	Pins
	J2-29
	P4-8
	R37-1
	R40-1

	NetLabels
	GND_SENSE_VDD
	GND_SENSE_VDD
	GND_SENSE_VDD


	GND_SENSE_VSS
	Pins
	J2-28
	P4-10
	R22-1
	R23-1

	NetLabels
	GND_SENSE_VSS
	GND_SENSE_VSS
	GND_SENSE_VSS


	NetC3_2
	Pins
	C3-2
	D2-1
	R14-2
	U4-5


	NetC5_1
	Pins
	C5-1
	R18-2


	NetC5_2
	Pins
	C5-2
	C6-2
	R8-1
	R16-1
	U6-7


	NetC6_1
	Pins
	C6-1
	R18-1
	R19-2
	U6-6


	NetC9_1
	Pins
	C9-1
	R19-1
	R20-2
	U6-1


	NetC9_2
	Pins
	C9-2
	R20-1
	R25-2
	U6-2


	NetC10_2
	Pins
	C10-2
	R5-2
	U8-5


	NetC11_2
	Pins
	C11-2
	R4-1
	U7-5


	NetC13_1
	Pins
	C13-1
	R32-2


	NetC13_2
	Pins
	C13-2
	C14-2
	R3-1
	R31-1
	U10-7


	NetC14_1
	Pins
	C14-1
	R32-1
	R33-2
	U10-6


	NetC17_1
	Pins
	C17-1
	R33-1
	R38-2
	U10-1


	NetC17_2
	Pins
	C17-2
	R38-1
	R41-2
	U10-2


	NetD1_2
	Pins
	D1-2
	U2-3


	NetF1_1
	Pins
	F1-1
	R34-2


	NetF3_1
	Pins
	F3-1
	R42-2


	NetJ1_2
	Pins
	J1-2


	NetJ1_4
	Pins
	J1-4


	NetJ1_5
	Pins
	J1-5


	NetJ1_35
	Pins
	J1-35


	NetJ1_37
	Pins
	J1-37


	NetJ1_45
	Pins
	J1-45


	NetJ1_46
	Pins
	J1-46


	NetJ2_42
	Pins
	J2-42


	NetP2_1
	Pins
	P2-1
	R8-2


	NetP2_2
	Pins
	P2-2
	R7-2


	NetP3_1
	Pins
	P3-1
	R3-2


	NetP3_2
	Pins
	P3-2
	R1-2


	NetR2_1
	Pins
	R2-1
	U1-2
	U10-5


	NetR6_2
	Pins
	R6-2
	U2-2


	NetR9_1
	Pins
	R9-1
	U3-1
	U6-5


	NetR11_2
	Pins
	R11-2
	U4-1


	NetR13_2
	Pins
	R13-2
	U4-4
	U4-6


	NetR16_2
	Pins
	R16-2
	U5-1


	NetR21_2
	Pins
	R21-2
	R22-2
	U6-3


	NetR31_2
	Pins
	R31-2
	U9-1


	NetR36_2
	Pins
	R36-2
	R37-2
	U10-3


	NetU4_3
	Pins
	U4-3


	OUT0_N
	Pins
	J1-8
	J2-24
	P4-17

	NetLabels
	OUT0_N
	OUT0_N
	OUT0_N


	OUT0_P
	Pins
	J1-24
	J2-9
	P4-18

	NetLabels
	OUT0_P
	OUT0_P
	OUT0_P


	OUT1_N
	Pins
	J1-9
	J2-23
	P4-19

	NetLabels
	OUT1_N
	OUT1_N
	OUT1_N


	OUT1_P
	Pins
	J1-25
	J2-8
	P4-20

	NetLabels
	OUT1_P
	OUT1_P
	OUT1_P


	OUT2_N
	Pins
	J1-10
	J2-22
	P4-21

	NetLabels
	OUT2_N
	OUT2_N
	OUT2_N


	OUT2_P
	Pins
	J1-26
	J2-7
	P4-22

	NetLabels
	OUT2_P
	OUT2_P
	OUT2_P


	OUT3_N
	Pins
	J1-11
	J2-21
	P4-23

	NetLabels
	OUT3_N
	OUT3_N
	OUT3_N


	OUT3_P
	Pins
	J1-27
	J2-6
	P4-24

	NetLabels
	OUT3_P
	OUT3_P
	OUT3_P


	OUT4_N
	Pins
	J1-12
	J2-20
	P4-25

	NetLabels
	OUT4_N
	OUT4_N
	OUT4_N


	OUT4_P
	Pins
	J1-28
	J2-5
	P4-26

	NetLabels
	OUT4_P
	OUT4_P
	OUT4_P


	OUT5_N
	Pins
	J1-13
	J2-19
	P4-27

	NetLabels
	OUT5_N
	OUT5_N
	OUT5_N


	OUT5_P
	Pins
	J1-29
	J2-4
	P4-28

	NetLabels
	OUT5_P
	OUT5_P
	OUT5_P


	OUT6_N
	Pins
	J1-14
	J2-18
	P4-29

	NetLabels
	OUT6_N
	OUT6_N
	OUT6_N


	OUT6_P
	Pins
	J1-30
	J2-3
	P4-30

	NetLabels
	OUT6_P
	OUT6_P
	OUT6_P


	OUT7_N
	Pins
	J1-15
	J2-17
	P4-31

	NetLabels
	OUT7_N
	OUT7_N
	OUT7_N


	OUT7_P
	Pins
	J1-31
	J2-2
	P4-32

	NetLabels
	OUT7_P
	OUT7_P
	OUT7_P


	OUT8_N
	Pins
	J1-16
	J2-16
	P4-33

	NetLabels
	OUT8_N
	OUT8_N
	OUT8_N


	OUT8_P
	Pins
	J1-32
	J2-1
	P4-34

	NetLabels
	OUT8_P
	OUT8_P
	OUT8_P


	OUT9_N
	Pins
	J1-17
	J2-32
	P4-39

	NetLabels
	OUT9_N
	OUT9_N
	OUT9_N


	OUT9_P
	Pins
	J1-33
	J2-31
	P4-40

	NetLabels
	OUT9_P
	OUT9_P
	OUT9_P


	OUT10_N
	Pins
	J1-49
	J2-34
	P4-35

	NetLabels
	OUT10_N
	OUT10_N
	OUT10_N


	OUT10_P
	Pins
	J1-50
	J2-33
	P4-36

	NetLabels
	OUT10_P
	OUT10_P
	OUT10_P


	OUT11_N
	Pins
	J1-47
	J2-36
	P4-37

	NetLabels
	OUT11_N
	OUT11_N
	OUT11_N


	OUT11_P
	Pins
	J1-48
	J2-35
	P4-38

	NetLabels
	OUT11_P
	OUT11_P
	OUT11_P


	SCLK
	Pins
	J2-38
	R10-2

	NetLabels
	SCLK
	SCLK


	SCLK_IN
	Pins
	J1-43
	P4-11
	R10-1
	R11-1

	NetLabels
	SCLK_IN
	SCLK_IN
	SCLK_IN


	SCLK_VSS
	Pins
	C3-1
	D2-2
	J1-44
	J2-37
	U4-2

	NetLabels
	SCLK_VSS
	SCLK_VSS


	SDA
	Pins
	J2-40
	R12-2

	NetLabels
	SDA
	SDA


	SDA_IN
	Pins
	J1-41
	P4-12
	R12-1
	R13-1

	NetLabels
	SDA_IN
	SDA_IN
	SDA_IN


	SDA_VSS
	Pins
	J1-42
	J2-39

	NetLabels
	SDA_VSS
	SDA_VSS


	TRG_N
	Pins
	J2-25
	R17-1
	U8-6

	NetLabels
	TRG_N
	TRG_N
	TRG_N


	TRG_N_IN
	Pins
	J1-7
	P4-16
	R28-2
	R29-1
	U8-4

	NetLabels
	TRG_N_IN
	TRG_N_IN
	TRG_N_IN


	TRG_P
	Pins
	J2-10
	R17-2
	U8-1

	NetLabels
	TRG_P
	TRG_P
	TRG_P


	TRG_P_IN
	Pins
	J1-23
	P4-15
	R30-2
	U8-3

	NetLabels
	TRG_P_IN
	TRG_P_IN
	TRG_P_IN


	VC_SENSE
	Pins
	F2-1
	J1-19
	J1-20
	R35-1
	R39-2

	NetLabels
	VC_SENSE
	VC_SENSE
	VC_SENSE


	VDD
	Pins
	J2-15
	P4-3
	R4-2
	R5-1
	R14-1
	R29-2
	R43-2
	U9-2

	NetLabels
	VDD
	VDD
	VDD
	VDD


	VDD_SENSE
	Pins
	J2-14
	P4-7
	R41-1
	R43-1

	NetLabels
	VDD_SENSE
	VDD_SENSE
	VDD_SENSE


	VM_FORCE
	Pins
	C2-2
	C4-2
	C8-2
	C16-2
	F1-2
	J1-34
	J1-36
	R2-2
	R6-1
	R7-1
	U5-3
	U6-4
	U10-4

	NetLabels
	VM_FORCE
	VM_FORCE
	VM_FORCE
	VM_FORCE
	VM_FORCE


	VM_SENSE
	Pins
	J1-21
	R34-1
	R35-2

	NetLabels
	VM_SENSE
	VM_SENSE


	VP_FORCE
	Pins
	C1-1
	C7-2
	C12-1
	C15-2
	D1-1
	F3-2
	J1-1
	R1-1
	R9-2
	U6-8
	U9-3
	U10-8

	NetLabels
	VP_FORCE
	VP_FORCE
	VP_FORCE
	VP_FORCE


	VP_SENSE
	Pins
	J1-18
	R39-1
	R42-1

	NetLabels
	VP_SENSE
	VP_SENSE


	VSS
	Pins
	C10-1
	C11-1
	J2-43
	J2-44
	P4-5
	R24-2
	U1-3
	U3-3
	U5-2
	U7-2
	U8-2

	NetLabels
	VSS
	VSS
	VSS
	VSS
	VSS


	VSS_SENSE
	Pins
	J2-13
	P4-9
	R24-1
	R25-1

	NetLabels
	VSS_SENSE
	VSS_SENSE
	VSS_SENSE






